e

1

Lﬁﬁﬁﬁﬁ%%ﬁl%

_#1: 13 =4 & j g (101.81) #2: T 4 % (93.82) #3: 12 .44 (88.38)
# 1 @ T7542 Mean: 3HN3 140 40 1 # 2 @ 642 Mean: 2HE-2 100 50 1
v KQJ95 10 2HN4 170 40 2 v T987 -100  2CS2 90 50 1
2 2HN3 140 40 3 ¢ AKT 2HE-1 50 40 3
& K8 2HN2 110 30 1 & AQ6 2SE2 110 0.0 2
e J & AK983 4DE-1 50 1.0 1 ||a 75 » AKQ93 2HE2 -110 00 2
v 876 v 32 4HN-1 50 -20 3 ||v J543 I v AQ62 2SE3 -140 1.0 1
¢ QT764 ¢ A953 2CS-1 50 20 2 ||e 97654 *J 2NW2 120 1.0 1
& A953 & T4 4HXN-1 -100 3.0 1 ||& KJ & T85 2HE3 -140 1.0 2
*¢9e@N 2Q6 4HN-2 100 30 2 *eVeN o JT8 2SE4 170 20 1
N 2~31~ vAT4 3DW3 110 830 1 ||[N2~~~~ 9K 2HE4 170 20 2
S 2~31~ ¢KJI8 4HN-3 -150  -40 1 S 2~~~ ~ ¢ Q832 1SE4 170 20 1
E ~3~~~ &QJ762 E ~~ 332 &97432 INXN-2  -500 -9.0 1
W ~ 3~~~ W ~1332
# 3 & A5 Mean: 5SW-2 200 120 1 ||# 4 & 98652 Mean: 3NS3 600 11.0 3
v Q9 -530  3SW5 -200 80 1 v 95 100  1DW-3 300 50 1
+ J6532 5DXN-2  -300 6.0 2 ¢ 73 1DW-2 200 30 2
& T942 5HW5 -650 -3.0 1 & A942 1NS3 150 20 1
» KQJT3 + 864 4SW5 -650 -3.0 3 ||& KJ4 s T73 3SN3 140 1.0 1
v AJ76 v KT8432 4swW4 -620 -3.0 3 ||v AQ72 v J84 2NS2 120 1.0 1
¢ AT4 ¢ 7 4HW5 650 -3.0 5 ||¢ QT86 + ¢ 42 2SN2 10 00 1
& Q & KJ6 4SW6 680 -40 1 ||&T5 & J8763 3NS-1 -100 50 6
PIVEON o972 4HW6 680 -40 1 *+VeN 4 AQ 4s8-2 200 -7.0 1
N22~~~w95 N 12121 vKIT63 4SN-3 -300 90 1
S 22~~~ ¢ KQ98 S 12132 ¢ AKJ9S
E ~~542 &A8753 E ~~~~~ & KQ
W ~~542 W ~ ~ ~ ~ ~
#5 e T2 Mean: 4HN5 650 9.0 3 ||# 6 » AK6 Mean: 3HW-3 300 70 1
v AKT754 280  3NS4 630 80 3 v T43 20  1NS2 120 30 2
¢ AJ4 3NS3 600 80 2 ¢ 53 1NN2 120 3.0 1
& KT 3NN4 630 80 1 & AJ973 2CN2 90 20 1
* K98654 @ J73 2HN5 200 -20 1 ||e QT74 & 932 1NS1 90 20 3
v 96 v J83 3HN3 140  -40 2 | |v A986 — v QJ2 1NN1 0 20 1
¢ 83 + KQ6 4SW-2 100 -50 1 ||e T8 ¢ AJ92 2DS-1 50 20 1
& AJ7 & Q943 3SW-1 50 60 1 ||# K85 & QT2 2CN-1 50 20 2
*¢9@N 4 AQ 4HN-1 100 90 2 *¢9e@N o J85 1NN-1 50 -20 1
N ~33~2v9vQ2 4HN-2 200 -10.0 1 [N ~ ~ ~ ~ ~ v K75 2CN-2 -100 -3.0 2
S 143~ 3 ¢ T9752 3NXS-3 -800 -140 1 ||S ~ 1 ~ ~ ~ ¢ KQ764 1NS-2 -100 -3.0 2
E ~~~ 1~ #8652 E~~211 64 1NN-2 -100 -3.0 1
W ~ ~~1 ~ W ~~111
#7 s T8 Mean: 3DE-3 300 110 1 ||# 8 & A65 Mean: 6DXW-6 1400 14.0 1
v 96 -240  3SS-1 -100 40 1 v AJ762 360 4SS5 450 30 2
¢ JT96542 3HS-1 -100 40 2 ¢ K752 4S5S4 420 20 10
& J9 3Cw3 110 40 2 &8 3584 170 -50 1
+ KQ * 6432 2SS-1 100 40 1 ||e + QJ2 2SS4 170 -50 1
v JT87 + v 42 4HXS-1 200 1.0 1 ||v K853 v QT9%4 4ss-1 50 9.0 2
¢+ 83 ¢ AKQ7 3SS-2 -200 10 2 ||e AJ864 ¢ T93 4SS-2 -100 -100 1
& AK543 S & Q82 3SN-2 -200 1.0 1 ||& AQ94 T52
¢V ON 4 AJ75 3HS-2 200 10 1 ® ¢V ON o KT98743
N ~121 ~ v AKQ53 4SS-3 300 20 2 [N ~~~4~ »
S ~121~ e 3SS-3 300 20 1 ||{S ~~~4~ ¢Q
E 3~~~3 &T76 35XS-2 -500 -6.0 1 E 133~~ &KJ763
W 3 ~~~3 3NW3 600 80 1 |W 133~~
4HXXS-2 -1000 -13.0 1




7 B4 ELA ARG EER L R 7
= A % N N N IMP R % | R~
P 5 # R M| Ton| e | s | IMP | IMP | IMP | IMP | fd| B4 | A4 |(MP)
IMP | IMP | IMP | & ¢ | Fae |27 | pdic |25 ]| MP 1
1 T 56 199 12D ] @28) ] 54 105 52 J0.78 | 52 1426.5 [44.8%] 65
1 i) 56 1 99 [ d2D ] @28 | 54 105 ] 52 078 | 52 1426.5 |44.8%] 65
1 PETR 56 1 95 [ 4D ] 52 ] 68 O] 65 1065 | 66 [447.5 [47.0%] 62
1 =N 56 1 95 | 4D | 52) [ 68 | (0.9 65 |0.65 | 66 14475 147.0%( 62
2 Y 56 | 42 |1l 1deD | 77 1 B0 | 77 10.20 | 77 1320.0 |33.6%| 77
2 LSS 56 | 75 [deh | @) | 73 A5 ] 73 1047 | 73 1394.5 141.4%] 73
2 BT 48 1 72 1A @D 67 |dO] 67 1061 | 68 |362.544.4%| 67
2 S 48 139 1den 1d3)] 74 1@ D[ 76 1023 | 76 ]288.0 [35.3%]| 74
3 icbe ey 56 | 83 | 23D 148 75 1 26| 74 1036 | 74 13355 135.2%] 75
3 ShiE 56 1 45 [ 2851 @40)] 78 (43| 78 10.16 | 78 ]286.5 [30.1%] 78
3 BRITAE 56 | 83 | 23D 148 75 | 26| 74 1036 | 74 13355 135.2%] 75
3 PR=E2E 56 | 45 | 2851400 78 | 43) ] 78 1016 | 78 1286.5 |30.1%] 78
4 BE 56 1 89 | (d48) ) 59) [ 70 Jd.D| 69 ]0.60 | 69 |412.5 143.3%[ 70
4 PR 56 189 [ 491 9170 D] 69 1060 | 69 14125 [43.3%| 70
4 il 56 1150 | (99) | 51 19 109 |23 |1.52 | 22 ]497.0 152.2%] 36
4 S PUE 56 1150 | (99) | 51 19 109 |23 |1.52 | 22 ]497.0 152.2%] 36
5 5 40 1 97 1 d1H 1A |52 JO5] 51 084 | 51 ]1341.0 [50.1%] 48
5 iR 32 | 98 50) 148 122 |15 7 1196 | 12 J311.0 157.2%] 10
5 KRR 40 1 113 | ¢4 | 66 10 1 1.7 5 1240 1 5 13945 158.0%] 6
5 USSR 40 | 80 (7D 3 46 101 | 46 |1.04 [ 46 ]342.5 [504%]| 47
5 EERE 24 1 39 (72) | (33) (1.4 0.54 189.0 146.3%
5 ke 48 1123 | 83) 1 40 129 |08 [ 28 148 | 26 ]447.0 [54.8%] 22
6 sS4 56 1102 | 4] 45 | 64 108 ] 63 ]10.69 | 63 1451.5 |47.4%] 58
6 PRI 56 1102 | 4] 45 | 64 108 ] 63 ]10.69 | 63 1451.5 |47.4%] 58
6 e 56 1173 | (90) | 83 3 1.5 8 11921 15 1530.0 155.7%] 18
6 s AR 56 1173 | (90) | 83 3 1.5 8 11921 15 1530.0 |55.7%] 18
7 PRERIEE 40 1120 | D | 59 12 115 110 1197 [ 8 ]389.0572%| 8
7 BEFHE 32 | 75 (7D 1 4 44 101 | 44 11.06 | 44 ]286.5 [52.7%] 31
7 EER 40 1120 | D | 59 12 115 110 1197 [ 8 ]389.0572%| 8
7 SRR 40 | 118 | (60) | 58 14 115 112 1197 [ 10 ]380.5 |56.0%]| 13
7 TR 40 | 118 | (60) | 58 14 115 112 1197 [ 10 ]380.5 |56.0%] 13
7 B2V 32 175 (7D 1 4 44 101 | 44 11.06 | 44 ]286.5 [52.7%] 31
8 FIR 56 1107 [ 5D @b | 62 J O8] 61 1071 | 61 1451.5 |47.4%] 58
8 PR LEF 56 1107 [ 5D @b | 62 J O8] 61 1071 | 61 1451.5 147.4%] 58
8 SR 56 1161 [ d1H ) 47 123 108 | 26 141 | 32 15275 [55.4%] 20
8 HHAE R 56 116l [ d1H ) 47 123 108 | 26 141 | 32 15275 [55.4%] 20
9 FEF 48 1123 1 dIH] 8 42 102 |42 1107 | 42 14320 [52.9%] 29
9 /NG 48 1123 1 dIH] 8 42 102 |42 1107 | 42 14320 [52.9%] 29




7 4B uﬁﬂ%%ﬁﬁ%ﬁﬁﬁ 7
& A % @l =gl E=w ] =F | IMP X % | B A~
Ff 85 * B wd | e | zes |Tes| MP | IMP | IMP | IMP | #c | A4 | B2 [ (MP)
IMP | IMP | IMP | & ¢ | Fpr | 2% | | #r | MP 1
9 s FsE 40 | 93 @ 1 13 140 103 [40 ]1.16 | 39 1354.0 [52.1%] 39
9 s EE 40 | 93 @) 1 13 140 103 {40 ]1.16 | 39 1354.0 [52.1%] 39
9 H{EE 24 1 67 | 68 1 9 0.4 1.16 211.5 |51.8%
9 R 24 1 67 | 68 1 9 0.4 1.16 211.5 |51.8%
10 R IR 32 184 [ 3H 150 121 J16 | 6 12471 3 13060 [56.3%] 12
10 JE iR 32 176 [ 44 132 133 1.0 122 J1.73 119 12855 [52.5%] 35
10 RFHII 56 1144 | (74 | 70 S P13 [ 15 1195 1 13 ]519.0 [54.5%] 25
10 TR 56 1125 1 de2) ) 37) | 60 J 0.7 ] 59 10.77 | 54 |467.5 |49.1%]| 51
10 TEV 48 1109 | 44 | 35 [ 57 10D ] 60 10.76 | 57 1390.0 {47.8%] 57
11 P B AR 40 | 93 (JO) 123 135 106 [ 34 1133 ] 34 1346.0 [50.9%]| 44
11 RICAE 48 1118 | 95 | 23 135 105 [36 11241 36 1397.0 [48.7%]| 53
11 2R 56 1167 | (98) | 69 6 112 [ 16 11.70 | 20 ]530.5 [55.7%] 17
11 IS 56 1142 | (73) | 69 6 112 |16 1195 | 14 15475 [57.5%] 7
11 2T 8 1.00 68.0 [50.0%
12 o~ 16 119 | 46 | @D (1.7 0.41 99.0 136.4%
12 PR | 24 | 54 | @0 | © 0.3) 0.90 185.5 [45.5%
12 BB EF47 48 1124 | &) |1 40 129 108 [ 28 |1.48 | 27 1456.0 [55.9%]| 15
12 BB {GEL 48 1124 | @) |1 40 129 108 [ 28 |1.48 | 27 1456.0 [55.9%]| 15
12 A E 48 1135 | (7 | 58 114 112 [ 18 [ 1.75 1 18 1419.5 [51.4%]| 43
12 M 40 1138 | 4D | 97 1 124 [ 1 13371 1 14000 [58.8%] 5
13 E35 N 32 1 50 [ 6n 1 dD]51 JO5] 55 1075 | 58 J275.5 [50.6%] 46
13 S 24 1 64 | 38) | 26 1.1 1.68 233.0 |57.1%
13 F I 48 1129 | (6D | 67 8 114 114 1208 | 7 1497.0160.9%| 3
13 ke B)s 40 177 1 @)1 © |48 1OD] 49 1093 | 49 1362.5 |53.3%] 28
13 S EE 48 1145 | ©O) | 85 2 118 1 4 1242 ] 4 1498.0 161.0%| 2
13 Etiiili7 3219 [ 321 67 8 121 1 2 1309 2 1347.0163.8%| 1
14 MU 48 | 84 |1 (09| 25 | 53 1 (0.5 ] 54 0.7 | 55 ]393.0 |48.2%] 54
14 PR ER S 56 1105 [ A0 ] D |47 1D 47 1096 | 47 1468.0 [49.2%]| 50
14 s 24 | 6l “42) 119 0.8 1.45 243.5 159.7%
14 R 56 1140 [ O | 43 128 108 | 33 J1.44 | 31 1520.0 [54.6%] 23
14 2 40 1100 | 55 | 45 125 J 1.1 [ 19 [ 1.82 | 17 J351.5 [51.7%] 42
15 2 S 48 1 72 [ A3 1 @0) | 72 § (A3 72 1055 1 72 1351.0 [43.0%] 72
15 FHEFET 40 1 93 1d0H T AD |50 O3] 50 J0.89 ] 50 ]338.0 [49.7%] 49
15 e 40 1 97 [ D 136 132 109 [ 25 1159 | 21 |387.0[56.9%] 11
15 FFRKEE 48 1114 | 8% | 26 | 34 105 [ 35 ]1.30 | 35 1445.5 [54.6%] 24
15 B B 48 1110 | @) | 21 | 37 104 [ 37 |1.24 | 37 14235 [51.9%] 41
16 A ie] 32 1116 [ S 16l [ 11 119 | 3 J211 ] 6 13235 159.5%| 4
16 + Tl 48 1135 [ dID ] 18 138 104 [ 38 J1.15 ] 41 14250 [52.1%]| 38




7 B4 ELA ARG EER L R V4
hi i B @ | E=m | E=w | 2g | WP ® % | B
5 ?}ﬁ Mg | Tos| Tes s IMP | IMP | IMP | IMP | f#c| B A | B4 |MP)
IMP | IMP | IMP | & ¢ | Fpr | 2% | | #r | MP 1
16 BRI | 40 1 80 [ @ |61 JA.D] 68 1066 [ 65 13000 |44.1%] 68
16 =E 1 se 112 [ A1) © |48 10.D] 48 1095 | 48 |464.5 [48.8%] 52
16 B | 48 1101 | 89 | 17 [39 104 |39 11.20 [ 38 ]415.0 |50.9%]| 45
17 #smi | 56 187 1 (120 35157 10657 1071 | 59 4585 [48.2%| 54
17 sy 1 s6 187 | 1201 35157 106 [ 57 1071 ] 59 1458.5 [48.2%| 54
17 B | 56 1141 | OD | 44 [ 26 108 | 31 | 145 | 29 |512.0 [53.8%]| 26
17 prgzE | 56 | 141 | OD | 44 126 108 [ 31 [145] 29 |512.0 [53.8%] 26
18 geEriE | 56 1171 a1 ] 58 [ 14 1 1.0 | 20 | 1.51 | 24 ]501.0 [52.6%]| 33
18 EEE 1642 | @] 13 0.8 1.45 147.5 154.2%
18 ez | 40l 64 A1) e ]e6 1A 71 1058 ] 71 1299.0 [44.0%| 69
18 arEfE | 56 1106 | d39) ] 33) ] 56 1060 56 10.76 | 56 |446.5 [46.9%| 64
18 Bk 1056 1171 a1 ] 58 [ 14 11.0 | 20 [ 1.51 | 24 |501.0 [52.6%]| 33




7 $EA4ELSAERESIEENT R 7
i i & | w | FEw|Fwlap | WP % % B A

I 55 FR 1 FR 2 | Mac|2on | sor|Tos| IMP | IMP | IMP | IMP | e | A4 | A4 | (MP)
IMP IMP IMP | % | & ;EL pr | g |2 MP MP 2,

1 e HEE S6 | 95 | -147 [ 52 127 1-09 ] 24 10.65 | 24 [4475 |47.0%| 23

1 TR Fy MR S6 1 99 | -127 [ -28 119 ]-051 18 1078 | 18 |426.5 |44.8%| 24

2 Ve Bt 48 1 39 | -169 [-130 | 29 |-2.7 130 J0.23 [ 30 ]288.0 [35.3%| 29

2 K2 Ve 8 3 42 ] -39 4.9 0.07 32.0 [23.5%

2 K% BT 48 1 72 | -119 | -47 | 26 |-1.0 ] 25 Jo.61 | 26 ]362.5 [44.4%| 26

3 ki e 56 1 45 | -285 |-240 | 31 |-43 131 J0.16 | 31 ]1286.5 |30.1%| 31

3 BEL ERIL4E S6 | 83 | -231 [-148 130 |-26129 1036 | 29 |335.5]352%| 30

4 F IR ST S6 1150 1 299 [ 51 17 1091 7 |152] 6 [497.0|52.2%| 13

4 R ZEF S6 | 89 | -148 [ =59 | 28 |-1.1 ] 26 10.60 | 27 |412.5 143.3%| 28

5 2 5% FABE 16 | 26 | -62 | -36 23 0.42 120.5 44.3%

5 5% Bl % %% 16 | 64 | -35 | 29 1.8 1.83 160.5 159.0%

5 FABE Bl % %% 8 13 | -10 3 0.4 1.30 68.5 50.4%

5 Rk S 5% 8 7 -18 | -11 -1.4 0.39 60.0 [44.1%

5 Phhk ERIR 8 21 -9 12 1.5 2.33 74.0 [54.4%

5 Phhk A B i 24 | 52 | =50 2 0.1 1.04 208.5 [51.1%

5 Bl (% %% i 24 | 46 | -38 8 0.3 1.21 218.0 [53.4%

5 A B i kKRR 8 46 46 5.8 1.00 102.5 175.4%

6 IS MOE 56 1102 | -147 | <45 | 24 |08 23 J0.69 | 23 14515 |47.4%| 21

6 ke e EITAR 6 1173 1 90 [ 83 | 2 |15 ] 2 |192] 5 530.01557%| 17

7 PR ER I 2B 40 1120 | 61 | 59 | 4 15 ] 3 J197 [ 2 1389.0572%| 3

7 B B 5 32175 71 4 [ 17 101 | 17 11.06 | 17 |286.5 [52.7%] 11

7 IR FRIEE 40 1 118 | 60 | 58 | 5 15 ] 4 J1.97 [ 3 13805 |56.0%| 5

8 FIR B1rEF 56 1107 | -151 | <44 | 23 |-0.8 122 J0.71 | 22 14515 |47.4%| 21

8 AR HHYEE 56 1161 | -114 | 47 | 8 108 | 8 |141 | 11 |527.5|554%| 8

9 TEF Bl 7ERR 48 | 123 | -115 | 8 16 102 [ 16 11.07 | 16 1432.0 [52.9%| 10

9 i MR 24 | 67 -58 9 0.4 1.16 211.5 [51.8%

9 B R 40 1 93 | =80 [ 13 |15 o3 | 15 J1.16 | 15 1354.0 [52.1%| 14

10 EBP RE 48 1109 | -144 | =35 | 21 |-0.7 ] 21 J0.76 | 20 1390.0 [47.8%| 20

10 TREE/T RE 8 16 | -18 | =2 -0.3 0.89 71.5 [57.0%

10 TRIET JE 24 | 60 | 33 | 27 1.1 1.82 2105 |51.6%

10 IR AR sREEI 24 | 68 | 23 | 45 1.9 2.96 231.0 [56.6%

10 BRI JE 8 16 | -11 5 0.6 1.45 75.0 155.1%

11 SRS B R 40 1 93 | =70 [ 23 |12 J 0.6 ] 13 J1.33 | 13 [346.0 |50.9%| 15

11 SRS HFSL 8 25 | -25 1.00 51.0 |37.5%

11 =S YIS 48 1142 | =73 [ 69 | 3 |14 ] 5 J195[ 4 14795 [58.8%| 2

11 EFY G 8 1.00 68.0 |50.0%

12 EE A E 32 | 114 | -26 | 88 1 128 [ 1 1438 1 |327.0[60.1%] 1

12 EE ek o5 8 24 -15 9 1.1 1.60 73.0 153.7%

12 M E ek 8 16 | 25 | 9 -1.1 0.64 53.0 139.0%

12 R AR E 8 5 26 | 21 2.6 0.19 39.5 129.0%

12 R ek o5 8 14 | 20 | -6 -0.8 0.70 59.5 |43.8%

12 B fFEL HS4R 48 1124 | -84 [ 40 | 10 Jo8 ] 9 J148 [ 8 1456.0 [559%| 6

13 SR Fi 24 | 72 | 33 | 39 1.6 2.18 247.5 160.7%

13 HFE Estiinig 24 | 73 | 227 | 46 1.9 2.70 250.5 [61.4%

13 SFERJE Fi 16 1 44 | <15 [ 29 1.8 2.93 175.5 |64.5%

13 SFERE TR 16 | 16 | -44 | -28 -1.8 0.36 126.0 146.3%




7 $EA4ELSAERESIEENT R 7
i i & | w | FEw|Fwlap | WP % % B A

I 55 FR 1 FR 2 | Mac|2on | sor|Tos| IMP | IMP | IMP | IMP | e | A4 | A4 | (MP)
IMP IMP IMP | % | & ;EL pr | g |2 MP MP 2,

13 L3N Fi 8 13 | -14 | -1 -0.1 0.93 74.0 [54.4%

13 S SRS 8 17 | 24 | 7 -0.9 0.71 61.0 |44.9%

13 i SCHH Estiinig 8 26 -5 21 2.6 5.20 96.5 |71.0%

13 S BEEr 8 21 -9 12 1.5 2.33 75.5 [55.5%

14 PR EE M ] 48 1 84 | -109 | -25 | 18 J-051 19 077 [ 19 1393.0 |48.2%| 18

14 PR EE N 28 8 21 21 2.6 1.00 75.0 155.1%

14 B SN = 24 | 6l 42 | 19 0.8 1.45 243.5 159.7%

14 S 28 321 79 | 55 [ 24 |11 o8 | 11 |1.44 | 10 |276.5150.8%| 17

15 SFEKEE Bk 1 321 74 1 55 [ 19 113 106 | 12 135 ] 12 |305.5|562%| 4

15 SFEKEE SR 16 | 40 | -33 7 0.4 1.21 140.0 [51.5%

15 Bt 1 £ Sl R 8 23 -6 17 2.1 3.83 81.5 159.9%

15 iclsEan Gk %74 32 1 59 | 593 [ 34 120 |-1.1] 27 1063 | 25 2435 |44.8%| 25

15 il Ean SR 8 34 | <11 | 23 2.9 3.09 94.5 169.5%

15 Bk % SR 16 | 13 | -39 | -26 -1.6 0.33 107.5 139.5%

16 P Tt 24 | 91 42 | 49 2.0 2.17 249.0 [61.0%

16 FFFE FEER 8 25 -13 | 12 1.5 1.92 74.5 154.8%

16 Bk P L% 48 1101 | -84 [ 17 | 14 |04 | 14 |1.20 | 14 14150 [509%| 16

16 R i 24 | 44 75 |31 -1.3 0.59 176.0 [43.1%

16 R LT 8 11 34 |23 29 0.32 49.5 [36.4%

17 P 2 RIS 2 56 1141 | 97 | 44 1 9 o8 10 J145] 9 1512.0[538%| 9

17 P FFoETT 56 1 87 | -122 1 -35 |21 |-06]20 JO.71 | 21 ]458.5 [482%| 18

18 FEKFE HEPE 2 S6 1171 | -113 158 |5 10 ] 6 J151] 7 1501.0[52.6%| 12

18 TRELER FFHE(R 16 | 42 | -29 | 13 0.8 1.45 147.5 |54.2%

18 IR S 40 1 64 | -110 | <46 | 25 |-1.2]1 28 J0.58 | 28 1299.0 [44.0%| 27




R 2 » —
N ’L \‘ ra 7
7[ F LA BELAVBESGEFHLF
NS SFHRNE EHE0) 1 3 T bl 1 6 NS S EITARGEAC)
EW T w=ERWEAC) a e EW JEE A4 MGEEGEHO)
N E T i | AwAA | COP
M Z2m22% | NS | EW | 2522% | NS | EW | #13 | #6 |#13] #6 |#13] #6
1 N [None 2HN4 170 4HN-1 50 220 6
2 E NS 2HE-1 50 2SE2 110 160 4
3 S EW 5DXN-2 300 4SW4 620 320 8
4 W | Both 1DW-2 200 3NS-1 100 300 7
5 N NS 4HN-1 100 3NS4 630 730 12
6 E EW 1NS2 120 2CN-2 100 220 6
7 S |Both 2SS-1 100 3SS-3 300 200 5
8 W |None 4S5S4 420 2SS4 170 250 6
@3t IMP| 42 |12
K- K- .
2 13 7 & s 6 g~
+ EINP 42 12
&3 IMP 42 12
VP 18.37 1.63
bR




/-/L, LA 4 -
7[ FLABELAMBESEERMEE 7
NS PREHE % 0E(EHO) 1 4 T bl 2 12 NS [ TR ERC)
EW RIE B EEAC) a e EW MEL B EGEIO)
pe oL | o L EE: L% AEAS | COP
b tyzr % | NS | EW | 2xz2 2% | NS | EW | #14 | #12 |[#14 | #12|#14|#12
1 N |None 4HXN-1 100 3DW3 110 10
2 E NS 2HE?2 110 TNXN-2 500 390 9
3 S EW 4HW5 650 4SW4 620 30 1
4 W | Both 3NS-1 100 3NS-1 100
5 N NS 4HN5 650 3NS3 600 50 2
6 E EW 1NN1 90 1NS2 120 30 1
7 S |Both 3SN-2 200 4HXS-1 200
8 W |None 4S5S4 420 4S5S4 420
@3t IMP[11 | 2
% 14 kR 12 s A
+ EINP 11 2
& 3 IMP 11 2
B VP 13.45 06.55
bR




2l 2 ’ -
® ’L \“ 7
7[ F LA BELAVBESGEFHLF
NS BEFET SR 2(F0) 1 6 T bl 3 7 NS BER R TAECE(RHO)
EW TR E IO a e EW  #E% Z5E05EH0)
ai | oL | o P MEz ik B A A COP
b stz | NS | EW | 29235 [ NS | EW | #16 | #7 |#16] #7 |#16] #7
1 | N |None 2HN3 140 2CS-1 50 | 190 5
2 | E| NS ONW2 120 OHE-2 100 220 6
3| s |EwW 4HW5 650 4HW5 650
4 | W |Both 3NS-1 100 3NS3 600 700 12
5| N| NS 3HN3 140 4HN5 650 510 11
6 | E|EW 1NN-2 100 INN2 120 220 6
7 | S |Both 3SS-2 200 3DE-3 300 500 11
8 | W [None 4SS4 420 4S5S4 420
@3 IMP| 5 |46
% % 16 Y 7 & %
* B IMP 5 46
£ - IMP 5 46
2 3VP 0.15 19.85
b4




R 2 ’ -
N ’L \“ 7
7[ F LA BELAVBESGEFHLF
NS Fi K 5 HEBEE(BHO) 1 8 T bl 4 1 0 NS BESA/T FESH(BAC)
EW Bozatk FriEfEEAC) a e EW FEFF BEEHO)
Bt | oL | £ LE: LEE 1k AEAA | COP
b txzex | NS | EW | 25225 | NS | EW | #18 | #10 [#18|#10|#18|#10
1 N |None 4HN-3 150 2HN2 110 260 6
2 E NS 2HE-1 50 2SE3 140 190 5
3 S EW 4SW5 650 4HW5 650
4 W | Both 3NS3 600 4S8S-2 200 800 13
5 N NS 3NN4 630 3NS4 630
6 E EW 2DS-1 50 1NST1 90 140 4
7 S | Both 4SS-3 300 4SS-3 300
8 W |None 4SS-1 50 6DXW-6 1400 1450 16
@3- IMP| 18 | 26
FaR L L, -
- 18 B 10 AT e RT
+ B IMP 18 26
&3+ INP 18 26
2 35-VP 6.88 13.12
b4




A 2 » —
. ’L \\ - 7
L $ L4 BB RESREHE R
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b Lol | o X T i | ARAA | COP
M Z2m22% | NS | EW | 2522% | NS | EW | #15 | #5 |#15] #5 |#15] #5
1 N |None 2HN4 170 2HN3 140 30 1
2 E NS 2HE4 170 2HE-1 50 220 6
3 S EW 4SW5 650 4HWG6 680 30 1
4 W | Both 2SN2 110 1NS3 150 40 1
5 N NS 3SW-1 50 3NS4 630 580 11
6 E EW 1NN-1 50 2CN2 90 140 4
7 S |Both 3HS-1 100 38S-2 200 100 3
8 W |None 4S5S4 420 3854 170 250 6
@3t IMP| 11 |22
% 15 I jm 3 5 CNBC
* B IMP 11 22
£ 3+ INP 11 22
2 3EVP 5.91 14.09
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M Z2m22s | NS | EW | 2522% | NS | EW | #8 | #4 | #8 | #4 | #38 | #4
1 | N |None|  4HN-1 50 4DE-1 50 100 3
2 | E| NS oHE3 140 OHE2 110 30 1
3| s |EW/| B5DXN-2 300 4SW6 680 | 380 9
4 | W |Both| 3NS-1 100 4SN-3 300 | 200 5
5| N|Ns 3NXS-3 800 4HN-2 200 600 12
6 | E | EW 1NS1 90 2CN-1 50 | 140 4
7 | s |Both| 3HS-1 100 3SXS-2 500 | 400 9
8 | W [None 4S54 420 4S5S4 420
@3t IMP| 27 | 16
5% 8 tp Bi 4 2
* B IMP 27 16
& 3+ INP 27 16
2 3-VP 14.09 5.91
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B | DL | £ |— 2Bz EE Lk R%EA A COP
292% | NS [ EW | 2gz5s [ NS | EW | #17 [ #2 [#17] #2 [#17] #2

1 | N |None| 4HN-2 100 3HN3 140 240 6

2 | E|Ns 2SE4 170 2HE4 170

3|Ss|EW 3SW5 200 4SW4 620 | 420 9

4 | W |Both| 1DW-3 300 3NS3 600 300 7

5| N| NS 4HN5 650 3HN3 140 510 11

6 | E| EW 1NS1 90 2CN-1 50 | 140 4

7 | s |Both| 3HS-2 200 3CW3 110 90 3

8 | W [None| 4SS5 450 4SS-1 50 | 500 11

B3+ IMP| 35 |16

% 17 i > 2 GATE LI g 5
* B IMP 35 16
£ 3+ TP 35 16

2 VP 16.23 3.77
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pt | oL | o4 P MEz ik B A A COP
b tx23% | NS | EW | sx22% | NS | EW | #9 | #3 | #9 | #3 | #9 | #3
1 N [None 2CS-1 50 4HN-1 50
2 | E| NS 2CS2 90 1SE4 170 || 260 6
3| s |EW 5SW-2 200 5HW5 650 | 850 13
4 W | Both 3NS-1 100 1DW-2 200 300 7
5| N| NS 3NS3 600 4HN-1 100 || 700 12
6 | E|EW 3HW-3 300 1NS-2 100 || 400 9
7 | S |Both 3NW3 600 4HXXS-2 1000 | 400 9
8 W |None 4S5S4 420 4S8S-2 100 520 11
@t IMP|60 | 7
e 9 NS 3 o ] H#
* B IMP 60 7/
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2 3-VP 20.00
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b tyzr % | NS | EW | £2xz22% | NS | EW | #11 | #1 [#11| #1 [#11]| #1
1 N |None 2HN3 140 4HN-2 100 240 6
2 E NS 2SE2 110 2HE3 140 30 1
3 S EW 4SW5 650 4HW5 650
4 W | Both 3SN3 140 2NS2 120 20 1
5 N NS 2HN5 200 4SW-2 100 100 3
6 E EW 2CN-2 100 1NS-2 100
7 S |Both 3SS-1 100 3CW3 110 10
8 W |None 4SS5 450 4S5S4 420 30 1
@3 IMP| 12
= I ’ 24 (e
%% 11 FoX X 1 A =<
A EIMP 12
& 3 IMP 12
B VP 14.39 5.61
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